1 PRINT”{CLR2Y RANDALL C. MAAS{C/DN2{C/DNX{C/LF3{C/LF2X{C/LF2XPRESENTS{C/DN3{C/DN3{
C/DN3{C/DN3{C/LF3{C/LF2X{C/LF2X{C/LF3{C/LF23{C/LF2{C/LF3{C/LF3{C/LF3{C/LF2{C/LF3{RV

ON2 {RVUDOF2 {RUON2> {RUOF2 {RUON2* ™{RUOF2 {RUON2 (RVUOFX”

2 PRINT”{C/RTX{C/RTX{C/RT2{C/RT2{C/RT2{C/RT2{C/RT2{C/RT3{C/RT3{C/RT2{RVON3

F3 {RUONJF" {RUOF} <{(RUON2IP{RUOF2F “{RUON2™{RUOF2} <{RUONY {RUOF}”

3 PRINT”{C/RT{C/RT2{C/RT2{C/RT3{C/RTX{C/RT3{C/RT2{C/RT3{C/RTI{C/RT3{RUON2
{RUOF2> {RUONXF "{RUOF> {RUON} {RUOF2

4 PRINT”{C/RT}{C/RT3{C/RT3}{C/RT2{(C/RTX{C/RT2{C/RTX{C/RT3{C/RT3{C/RT2{RUON2
v W{RUON} {RUDF} {RUON} {RUOF2¥ “{RUON2 {RUOF2 ™{RUON3{RUOF2

S PRINT”{C/RT2X{C/RTX{C/RT3{C/RT2{C/RT2{C/RT2{C/RT2{C/RT2{C/RT3{C/RTI{RUON?
3 {RUDON} {RUOF2 {RUON2} {RUOF2 {RUONY {RUOF} ™{RUON2 ”: GOSUBS000:
B6S79,868

={RUO

{RVOF

{RVUOF
POKES

& INFUT"A SENTEMCE PLEASE";SEN%:SEN$=GEN$+" ":1FORX=1TOLEN(SEN$) : REMGETASENTENCE

7 RX&=MIDS$ (SENS$, X, 1) IFAXSC " "THENWRDS=WRDS+RX$: NEXTX

8 GOSUBZO00: WRDE=""sNEXTX: WRD%="": GOSURBL10000: WAL $="":G0TO&: REM SAY IT
9 WRDE=WRDE+" "2 WL=LEN(WRDS$) :FORI=1TOWL : L$=MID% (WRD%, I, 1)

10 Li=0:L2=0:608UREQO0: IFL=0THEN20: REM SEE WHAT LETTER IS

EF Li=L:L1$=L%: L28=MID$ (WRD%, I+1, 1) : L$=L2%: GOSURBOOO: ME=""3 REMCHECK NEXT LETTER

14 L2=L: IFL1=L2THENI=I+1:ClL=132 IFL1=1THENGOSUR7QOQO: CL=0:G0OTO1L?

15 IFCL=1ANDL 1=2THEMCL=0: GOSUR&OOD0: GOTOLY

16 I=1+1:608UR1000

19 NEXTI:REM DECIPHER IT

20 WAL $=WAL$+"02" : RETURN: REM RETURN

1000 IFLIS+L2¢="ER"AND (I=LEM (WRD$) ORMID% (WRD%, I+1, 1) ="R") THENWAL $=WAL $+"51 "
1001 IFLI$+L2%="UR"ANDMIDS (WRD%, I+1, 1) ="E"THENWAL $=WAL$+"51" : RETURN
1002 IFL1$+L2¢="UR" THENWRD$=WRD$+" 52" : RETURN

1005 IFL1$+L28s="TR"ANDMIDS (WRD%, I+1, 1)< »"R"THENWAL$=WAL $+"52" : RETURN
1004 IFLI$+LEE="TR"ANDMIDS (WRD%, I+1, 1) ="R"THENWAL $=WAL $+"51 " : RETURN
1003 IFMIDS (WRDS$, I-1, ) ="ARR" THENWAL$="24": I=1~12: RETURN

1006 IFL1$+L 2%="ER"ANDI< *LEN (WRD%$) ANDMID® (WRD$, I+1, 1) < "R THENWAL $=WAL $+" 50"

1007 IFL1$+L2¢="ER"THENRETURN

1008 FORA=1TOS: IFL1$+L3$=V3% (A, 1) THENWAL $=WAL $+V34 (A, 7)) : RETURN
1009 NEXTA: I=I-1: IFL1=2THENGOTOS000

1010 GOTO4000

2000 IFWRDS =" O"ANDYAL (WRD$) =0THENGOSURS : RETURN

2001 W$=8TR$ (VAL (WRD%) ) s P=LEN (W%) 1 PE=W$: IFWS="0O"THENWRD$="7ERD ":GOSUEY: RETURN

20073 ONF-1 GOSUR2004, 2005, 2008, 2011, 2020, 2030, 2040, 2050, 2060: GOTOR21 00
2004 WRDS=NS (VAL (W$) ) s RETURN
20085 IFVAL (W) <21 THEN2004

2006 FIH=NE (VAL (LEFT$ (W$,2))+18) 1 PE$=NE (VAL (RIGHTS$ (W%, 1))) t WRDE=FP2%+" “4+F3g

2007 RETURN

2008 IFWE=" 000" THENWRDS:=""31 RETURN

2009 F4AS=NE (VAL (LEFT$ (W$,2))) s WE=" "+RIGHTS (W$, 2) : GOSURR005
2010 WRD&=F4%+" HUNDRED "+WRD%: RETURN

2011 IFWS=" Q000" THENWRDS="":RETURN

2012 We=LEFTS (W$, 2) 1 GOSURZ004: GOTO203S

2020 IFWS=" 00000" THENWRDS="": RETURN

2021 We=LEFT$ (W%, 3) : GOBUBZ005: GOTO203S

20IZ0 ITFWS=" Q00000 " THENWRDS="": RETURN

2031 We=LEFTS (W$, 4) : GOBUEZ2008

2075 POE=WRDE: WE=" "+RIGHTE (F%,3) : GOSURZ2008: WRDE=FS5$+" THOUSAND "+WRD$: RETURN

2040 WE=LEFTS (W$, 2) : GOSUR2004: GOTO20465
2050 WE=LEFTS (W, ) 1 GOSUBZ00S5: GOTO2046E
2060 W=l EFTS (WS$, 4) 1 GOSURZ008

2065 FBE=WRDE: WE=" "+RIGHTS (F$,4) : GOSUBZ0Z0: WRD$=F2%+" MILLYUN "+WRD%:RETURN

2100 Wis=WRDE+" ":WRD$="":FORK=1TOLEM(W1%$) : W2&=MIDS (W1%,k, 1)
21035 IFW2e<:" "THEMWRDE=WRDS+W2% s NEXTH

2110 WRDE=WRDE+" ":GOSUBD: WRDS=""1 IFE<LEN(W1$) THENNEXTE
2115 RETURN

J000 IFL1$="Y"THEMNNAL $=WAL $-+" 25" s RETURN

FTO01 IFL1S="0"THENWAL $=WAL $+" 31" : RETURN



TOOE FORA=1TOZ: IFVES (A, 1) =LI1ISTHENWAL $=WALE+V2E (A, D) s RETURRN

FOOT NEXTA RETURN

FO10 IFI-2H0THENLS=MIDE (WRDE, I-2, 1) s GOSURBOOO: IFL1$="E"ANDL=1 THEMRE TLIFMN

FO11 IRFVEs (L, 1 =L1$ANDI=1ANDI=_LEN (WRD%E) THENWAL $=WAL $+" 15" s RETLIFN

FOLE FORA=1TO&: IFVIEE (A, 1) =LIETHENWAL$=WALS+VIE (A, 2) s RETURN

FOLE ONEXTA: IFLI$S="Y"THENWAL $=WAL.$+"49" s RETLURN

Z01S PRIMTYERROR ERROR":STOF

4000 IFL1$s=""THENRETURN

4001 RE=MIDE (WRD%, I+1, 1) s IFI=LEN (WRD$) ~ 1 THENZOLO

40035 IFLEN(WRDS) »I+2THENX$=MID% (WRD$, I+2, 1} IFX$="E"THENZO10

4004 FORA=1TO6: IFVIE (A, 1) =LI1$THENWAL $=WAL$+VI% (A, 2) s RETURN

4005 NEXTA:PRINT"ERROR ERROR":STOR

SOO0 IFL1$="C"ANDL2s="E" THENWAL $=WAL $+"55" : RETURN

G001 IFL1$="R"ANDMID® (WRD$, I-3, 2) ="EA"THENWAL $=LEFT$ (WAL $, LEN (WAL$) ~2) +"&003"

SO0Z FORA=1TOZ20: IFCE (A, 1) =LI1$THENWAL$=WAL$+C% (A, 2) : BOTOS0OX

SOOE IFMIDS (WRDS, 12, 3)="ARE"THENWAL $=LEFTS (WAL $, LEN (WAL $) -2+ 47030

SO04 TFL1$="H"AND (L2$="0"0RL2%="E") THENWAL $=WAlL $+" 27" s RETURN

5005 IFL1$="H"AND (L2%="0"0RL2%="0U") THENWAL $=WAL $+"57 " : RETURN

S0046 IFLISE="RBUANDLZY 1 THENWAL $=WAL 4+ 28" s RETURN

HO07 IFL1$="B"ANDLZ=1 THENWAL$=WALE+"&2" s RETURN

S008 IFLI$="D"ANDI-1=LEN (WRD%) THENWAL $=WAL$+"21 " : RETURN

5009 IFL1I$="D"ANDI-1<LEN (WRD%) THENWAL $=WAL$+" 22" s RETURN

S010 IFLIE="G"AND (LE2g="E"ORL2$="4") THENWAL $=WAL$+" 4" : RETURNM

5011 IFL1$="G"THENWAL$=WAL$+"41" s RETURN

012 FORA=1TOZ20: IFCH (A, 1) =LI1$THENWALS=WAL$+C% (A, 2) : GOTOSOO7

HO1T NEXTA:PRINT"ERROR ERROR":STOF

G014 LE=L2%: G0SUBRBO00: IFL=1THENRETURN

S015 WALS=WALS+"0R2" s RETURN

HOO0 L=l 15+L2% IFLES="GH"ANDI +1=LEN (WRD%E) THENWAL $=WAL $+" 4040 s RETURM

&H0L IFI-2< 1 THENGOOD

6002 IFMID® (WRD%, 1-2, 1) ="T"ANDLI$="GH" THEMWAL$=LEFT$ (WAL $, LEN (WAL $) ~2) +" 04"

HOOE IFL28="8"ANDI+2=LEN (WRD%) THENI=I~1: GOTOS000

AHOO04 TFL 1=l 2%THENI =11 GOSUBRS00O: WAL $=WAL $+" 02" s RETURN

HOOE FORA=1TOLZ: IFCCE (A, 1) =LIESTHENWAL $=WAL$+CCS (A, 2) s RETURN

60046 NEXTA: I=1-1:60TOS000

7000 IF(L1$="Y"ANDL28="0")OR (L.1&="Y"ANDL 2%="E"ANDI ~1=1) THEMI=I-1: G0TOQ4000

FOOol IFL1S+L2%="YE"ANDI *2THENWAL $=WAL $+" 04" s RETURN

7002 IFLI1S+L2%="T0"ANDMIDE (WRD%, I-2, 1) ="T"THENWA$=LEFT$ (WA%, LEN (WA%) —1) +" 37300

FOOX IFLI$+L2%="T0"ANDMID® (WRD$, -2, 1) < - " T THENWRDS =WRDE+" 20"

7004 TFLIS+HL2%="T10" THENRETURN

7005 FORA=I1TDIS: IFVCE (A, 1) =LI1$+ 24 THENWALS=WAL $+VCE (A, 2) s RETURN

FOOL NEXTA: I=1-1sG0TO4000

OO0 L= FORG=1TOS: IFVI$E (A, 1) =LETHEMNL=13 RETURN

BO01 ME=""s IFL=1THENRETURN

O0O2 MEXTA:FORA=ITOLL: IFCE (A, 1) =LeTHENL=2: RETURN

8O04 NEXTAsL$=" "l =0:RETURN 5

OO0 DIMVCE(17,2) ,VI14(5,2),C4(11,2),CO6(13,2),VI%(5,2) NS (28) ,VI$ (4, 2)

001 FORI=1TOL7:READVC®(I, 1) ,VOCS(I,2) :NEXT:FORI=1TOS:READVIS (I, 1) ,VI1$ (I, 2) s NEXT

FOOZ FORI=1TOLl1:READCH(I,1) ,C%(I,2) :NEXT:FORI=1TO1Z:READCCS (I, 1), CCH (I, 2) s NEXT

FOOT FORI=1TOS:READV2$ (I, 1), V28I, 2) e NEXT:FORI=0TQ27

OO4 READNE (I aNEXT:FORI=1TO4: READVES (I, 1), V33 (1, 2) s NEXT: RETURN

100 DATAAA,23,AE, 20,A1,20,AY,20,EA, 19,EE,19,EI,20,EY,19,1A,19215, IE, Q6

2101 DATADA,S5Z,0E,53,00,32,UI,12,AU,23,UE,21,00,31,A,26,E,07,1,1212,U,30

102 DATAY,49,C,0242,F,40,L.45, M, 16

F10Z DATAR, 08446,P,0109,8,3555,V,35,W, 46, X, 070702415555, 2,43, TH, 29

2104 DATANT, 110217,6M,56,0CH,0250,KN, 11,8H,37,0U, 4248, NG, 44,FH, 40, WH, 48

106 DATAGH, 02, DE, 01230110, CK,0241,A,20,1,06,E,19,0,53,U, 4922

F110 DATA" ",WON,TOO, THREE,FOR,FIVE,SIX,SEVIN,EIGHT,NINE

Z111 DATATEN,ELEVVEN, TWELVE, THIRTEEN, FORTEEN, FIFTEEN, SIXTEEM

F112 DATASEVINTEEN,EIGHTTEEN, NINE TEEM, TWENTY, THIRTY,FORTY

113 DATAFIFTY,8IXTY,SEVINTY,EIGHTY,NINE TEE

LIS DATAQU, O848, LE, &2, 0R, 58, AR, 59

10000 WAL $=Wal $+" 00"

10001 FORI=1TOLEN (WAL$) BTEFZ: AL=VAL (MID$ (WAL%, 1, 2)) 1 FOKES&LST77, AL

10002 PORESET76, FEEK (S36574) ANDNOT4: WAITSHASEY, 16 FOKESLS74, PFEEK (56574) +4:s NEXTI
OO0 RETURN : p SRR




